

Date \_\_\_\_\_  
Page \_\_\_\_\_

$$(15) \tan^{-1} \left( \frac{x-1}{x-2} \right) + \tan^{-1} \left( \frac{x+1}{x+2} \right) = \frac{\pi}{4}$$

$$\Rightarrow \tan^{-1} \left( \frac{\frac{x-1}{x-2} + \frac{x+1}{x+2}}{1 - \left( \frac{x-1}{x-2} \right) \left( \frac{x+1}{x+2} \right)} \right) = \frac{\pi}{4}$$

$$\Rightarrow \tan^{-1} \frac{\frac{(x-1)(x+2) + (x+1)(x-2)}{(x-2)(x+2)}}{\frac{(x-2)(x+2) - (x-1)(x+1)}{(x-2)(x+2)}} = \frac{\pi}{4}$$

$$\Rightarrow \tan^{-1} \frac{x^2 + 2x - x - 2 + x^2 - 2x + x - 2}{x^2 + 2x - 2x - 4 - x^2 - x + x + 1} = \frac{\pi}{4}$$

$$\Rightarrow \frac{2x^2 - 4}{-3} = 1$$

$$\Rightarrow 2x^2 - 4 = -3$$

$$2x^2 = -3 + 4$$

$$2x^2 = 1$$

$$x^2 = \frac{1}{2}$$

$$x = \pm \frac{1}{\sqrt{2}} \quad \text{Ans}$$

$$\frac{545 \times \pi}{180}$$

$$90 \times 2 - 45$$

$$90 \times 1 + 45$$

$$\frac{3\pi}{4} \times \frac{180}{\pi}$$

$$45$$

$$135$$

$$\frac{90}{45}$$

Date \_\_\_\_\_  
Page 45

16)  $\sin^{-1} \left( \sin \frac{2\pi}{3} \right)$

$$\Rightarrow \sin^{-1} \left( \frac{\sqrt{3}}{2} \right) = y$$

$$\sin y = \frac{\sqrt{3}}{2}$$

$$\sin y \Rightarrow \frac{\pi}{3} \quad \text{Ans}$$

sin	All
cos	t

17)  $\tan^{-1} \tan \frac{3\pi}{4}$

$$\Rightarrow \tan^{-1} \left( \frac{\pi}{1} \right) = y$$

$$\tan y = \frac{\pi}{1}$$

$$\tan y = -\frac{\pi}{4}$$

18)  $\tan \left( \sin^{-1} \frac{3}{5} + \cot^{-1} \frac{3}{2} \right)$

$$\Rightarrow \sin^{-1} \frac{3}{5} = y$$

$$\frac{3}{5} = \sin y$$

$$h^2 = p^2 + b^2$$

$$(5)^2 = (3)^2 + b^2$$

$$b^2 = (5)^2 - (3)^2$$

$$= \sqrt{25 - 9}$$

$$= \sqrt{16} \Rightarrow \frac{4}{5}$$

$$\tan^{-1} = \frac{3}{4}$$

$$\tan \left( \tan^{-1} \frac{3}{4} + \tan^{-1} \frac{2}{3} \right)$$

$$\Rightarrow \tan \left( \frac{\frac{3}{4} + \frac{2}{3}}{1 - \frac{3}{4} \times \frac{2}{3}} \right)$$

$$\Rightarrow \tan \left( \frac{\frac{3 \times 3 + 2 \times 4}{4 \times 3}}{\frac{4 \times 3 - 3 \times 2}{4 \times 3}} \right)$$

$$\Rightarrow \tan \left( \frac{\frac{9 + 8}{4 \times 3}}{\frac{12 - 6}{4 \times 3}} \right)$$

$$\tan \Rightarrow \frac{17}{6} \text{ Ans}_2$$

$$\textcircled{19} \cos^{-1} \left( \cos \frac{7\pi}{6} \right)$$

$$\Rightarrow \cos^{-1} \left( \frac{\sqrt{3}}{2} \right) = y$$

$$\cos \frac{\sqrt{3}}{2} = \cos y$$

sin	Alt
tan	cos

$$90 \times 2 \neq 30$$

$$\cos\left(\pi - \frac{\pi}{6}\right) = \cos y$$

$$\cos\left(\frac{5\pi}{6}\right) = \cos y$$

$$y = \frac{5\pi}{6}$$

20  $\sin\left[\frac{\pi}{3} - \sin^{-1}\left(-\frac{1}{2}\right)\right]$

$$\Rightarrow \sin^{-1}\left(-\frac{1}{2}\right) = y$$

$$\Rightarrow \left(-\frac{1}{2}\right) = \sin y$$

$$\Rightarrow -\sin \frac{\pi}{6} = \sin y$$

$$y = \frac{\pi}{6}$$